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HI FRIENDS WE WILL YOU ALL THE BEST . NOW WE ARE PROVIDING BEST
FORMULAS FOR SS5C CGL AND USEFUL FOR ALL COMPETITIVE EXAMS . IF YOU
LIKE OUR MATERIALS PLEASE SPREAD OUR SITE WWW.GRE8DREAMZ.COM AND

PLEASE DO ATLEAST A COMMENT OR LIKE ON OUR SITE .

PLEASE DO LIKE AND SHARE OUR MATERIALS ITS REALLY 100 PERCENT
USEFUL JUST THINK AMINUTE ABOUT OUR HARDWORK FOR MANY PEOPLE
WE ARE NOT DOING IT FOR MONITORY BENEFIT, IF IT REALLY YOU DON'T
FORGET TO LIKE US.

EXTENSIVELY USED FOR : SSCAND ANY COMPETITIVE EXAM WHICH
PERTAINS CBSE /NCERT SYLLABUS AS THEIR PART IN CURRICULUM

IF YOU WANNA LIKE US IN FACE BOOK

LIKE
GOHARE/ | e

GRSDREAMZ

www.g8dreamz.com

www.praveenstech.blogspot.com
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GEOMETRY BACKGROUND

LINEAR INFORMATION

2 - . + + -
Slope: A Midpoint: [X]QX° %] Distance Formula: d = J(xq —x)+(y, — )’
— X

2 1
Parallel Lines: same slope

. . . . 1
Perpendicular Lines: slopes are negative reciprocals (m] =—— and mm, = —1)
m,

Slope - Point Equation of a Line: y—y, =m(x—x,)
Slope - y intercept Equation of aline: y=mx+b

ANGLE INFORMATION:

O 360° inacircle
A Sum of the angles in a triangle = 180°

&:‘x’rerior‘ Angle = Sum of the interior opposite angles (ZA+ /B = /C)

B
D Sum of the Angles in a Quadrilateral = 360°
For each additional side in a polygon, add 180°

— > Straight Line = 180° (2 angles that add 1o 180° are called Supplementary Angles)

E; Right Angle = 90° (2 angles that add to 90° are called Complimentary Angles)
B
% Vertically Opposite Angles (£A= £C, /B = /D)
D
Parallel Lines: Interior Alternate Angles are Equal - Form a Z Pattern
(£D=4F, £ZC = ZE)
A/B
b/C Corresponding Angles are Equal - Form an F Pattern
E/F (/B=/F, /A= /E, Z/C = /G, ZD = /H)
H/ &6

Interior Angles on same side of transversal are Supplementary (C Pattern)
(£D+ ZE =180°, ZC + £ZF =180°)
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Name of the Figure Lateral/Curved Total Surface Volume Nomenclature
Solid Surface Area Area

Cuboid 2h(1+B) 2(1b+bh+hi) Ibh 11 length

h ; b : breadth
h .
I} i1 @ height
Cube 4a’ G a a: side of the cube
a
i a
Right prism Penimeter of base x Lateral surface area + |  Area of base % -
height 2 (area of one end) height
Raght circular " 2 2m (i) T » - radms of the base
cylinder it height
1 1
Raght pyranud E (perimeter of base) Lateral surface area + g (area of the base) | -
* slant height area of the base » height
1
Right circular / el mr(l+r) g]’[r:h 7 : radius of the base
cone i - height
! - slant height
. 4

Sphere 4m? 4 - e - radius

(Solid) '

Hemisphere @ 2 Im i e » : radius

(Solid)
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GeomeTRIC FORMULAS

Rectangle Square
w E
H
] [
Perimeter: P = 2! + 2w Perimeter: P = 45
Area: A = lw Area: A = &
Right Triangle Pythagorean Theorem
{for right triangles)
c b < b

. a a
Perimeter: P =a + b + ¢ e+ BE=
Area: A = %ab

One 90° (right) angle

Trapezoid Parallelogram

b
| i
1 1
a :-’i ¢ :h '
1 1
b 5
} b

1 4 J
T - B 1 1 1

Perimeter: Perimeter: P = 2a + 2b
P=a+b+c+ B Area: A = bh
Area: A = %h(B + &)

Cube Cone

T A O

Volume: ¥ = §° Volume: V = 5’"

Other Formulas

Distance: d = 1t (r = rate,t = time)
Percent: p = br (p = percentage, b = base, r = rate)

22
USE m=3.14 or m=-=~
Triungle Sum of Angles of Triungle
a c A
b — L <
Perimeter: P = a + b + ¢ A+ B+ C =180
a1 The sum of the measures
Area: A ZM' of the three angles is 180°.

Isosceles Triangle Equilateral Triangle

a
Triangle has:
three equal sides and
three equal angles.
Measure of each angle
is 60°.

Triangle has:
two equal sides and
two equal angles.

Cirde Rectangular Selid

’I
’/’ H w
s
L
Circumference: C = ard Volume: V = LWH
C =2qr
Area: A = ¢
Right Circular Cylinder Sphere

N~

Volume: V = irrr‘

Volume: V = wrih 3

Temperature: F = %C +32 C=3(F~32)

Dt

Simple Interest: I = Prt
(P = principal, r = annual interest rate,
t = time in years
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3

Formulas
Right Prism Right Cylinder Rectangle Square
LA=ph LA=7dh or LA=2xrh | Perimeter Perimeter
=2h+2 c 2+ 0w —
SA =LA+ 2B |SA=LA+2B P=2b+2h or 2/+2u P=4s
V = Bh SA=rxdh+271? Area Aren
A=Dbh A= .S'z

V=Bh or V=rx1*h

Regular Pyramid Right Cone Area of a Parallelogram
LA=rxrl A=>bh Area of a Trapezoid
1 A —T 1
Res SA=LA+ =
LA= —pl SA=LA+E Area of a Triangle A=<h(b +b,)
-, A — =730 - .2 §)
SA=LA+B SRR A=t Midsegments of a
1 1 2 T id
o i V=—Bh oo V=Zrr’h mpe
¥ =k 3 3 Midsegnient = L (b + ¢
3 Area of a Regular Polygon | Midsegment = (b +Db, )
Sph 5
‘P eﬁr(? _ 2 Slope Intercept Form A= l(,p Area of a Rhombus
SA=4m v=mx+b 2 or Kite
Ve i - Point Slope Form
3 -~ vo—p ) =m(x —x Area of an Equilateral l
(vi—72) (v—x) Trangle = d d,
Slope Formula 1 \/_ =
2
V., — 1 "1 =—(5 3
e J2=) 7 )(¥3)
(% =)
Circle Circle ~ Length of Arc Area of a Sector of a Circle Area of an Annulus ofa
Circumference AT C Circle
% — mAB =T 2
C=2rxrorzd Length of 4B = 5 27 360" A= 7R — 712

Area

Equation of a Circle

Area of a Segment of a

A=rr? : Circle
(v=h) +(v=k)' =r? ac ;1
A=—rxr*——bh
360 2
Pythagorean Theorem
Special Right Special Right Triangle Interior Measure of a
Triangle 45-45-90 30-60-90 A +b = Polygon (sum of the
angles)
30 Distance Formula (n—2)180
542 One angle
2 2
g INE) 2s d:\/(“'l_*"z) +(m-1,) | (1=2)180
n
1\-'Ii(lp0illt Formula Exterior Measure ofa
45 Polygon (Sum)
L 60 . W A 360 degrees
” 1 X M=22"" — B2 ol = : One exterior Angle
s = = 360

n
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TRIGBNOMETRY

Definition of the Six Trigonometric Functions
Right triangle definitions, where 0 < 0 < /2.

sin § = BB o 5= BYD.
hyp. opp

. dj. "
Opposite  €0s 8 = F— sec @ = ﬂ&

yp. Zld:i.
tan g = EE& cot g = a0
Adjacent adj. opp-
Circular function definitions, where 8 is any angle.
¥ ing=2% =l
ba vy sme—r csc 6 -
(2 ¥)s x r
/, r| cos8 == secf=-
» (] r x
x y
|
Beuble-Angle Formulas
Reciprocal Identities _ sin 24 = 2 sin u cos u
1 c052u=coszu—sin2u=2coszu—l=l—Zsinzu
Sinx = — sccx=m mnx'—‘cmx 2tan u
; tan 2y = ———
L ¢ 2 = tan®y
CSCX==—— COSX=-—— Coty=—
x x x

Power-Reducing Formulas

. 1—cos 2u
sSin®* y = ‘7‘
_ cosx 2
i 1+cos 2u
s 2
Pythagarean Identities 3 an? 1—cos 2u
U= ——
sinf x + cos? x = | 1+cos 2u
+ 2 oy 2 v STy 2
i S - Sum-to-Product Formulas

Cofunction Identities

, m ™ H
S| 5~x| = cos x cos FTX|] =smx

Tangent and Cotangent Identities

sin
tan x = cotx = — <
cos x sin x poe Lo

3 . . fusty u—y
Sinu + siny =2 sm<7) cos(—_,—>
) Lo Uty . fu=v
Slau = siny = 2 cos sin{ ——
2 2
uty u=v -
. cosu+cosv=2cos(—-,, )cos( 3 )

. fut+v . U=y
co:u—cosv=—25mT sin{ ——

2

m T
csc (;‘.t) = secx um(;—.r) = cotx

w = m 1
sec :E—X =CcSCx cot 3_-— =tan x

2
Reduction Formulas

sin(—x¢) = —gin ¢ cos(—x) = cos x
cse(—x) = —csc ¥ tan(—x) = —tan x
sec(—x) = sec x cot{—x) = —cot x

; A 1
Sum and Difference Formulas : €08 # cos v = jlcos(u=v) + cos(u+v)]

sin(%=v) = sin w cos y > cOS u sin v
cos(u*v) = cos ucos v = sin u sin v
lan ¢ = tan v
I Ftnueanv

Product-to-Sum Farmulas

sinusiny = é[cos(u—v) = cos(u+v)]

sinucosy = %[sin(u.*v) + sin(u—v)) z

tan(uv) = €0s u sin Vi é{sin(u+v) = sin(u—v)]

— .t = 1.
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Mr. Siderer

Circles - Ellipses - Hyperbolas (centered on origin.)

Ellipse
2 2
xE
a b where a is the intercept on the major axis, which can be the x or y axis.
or f— +X = b is the intercept on the minor axis which can be the x or y axis.
" a
It'l is the center-to-focus distance
2 2 2 >
b =a -c a>b. Ifthe X~ term has the larger denominator, then the x axis is the major axis.
If the )'3 term has the larger denominator, then the y axis is the major axis.
2 2 2
. X +y =r . . . i . : .
Circle - Acircle is a special ellipse with equal x and y intercepts and radius r.
2 2
or where a =b", ¢=0 or, a= b
2 x 2
Hyperbola @ belongs to the positive term and a is the axis intercept. Ifthe X~ term is positive,

? 2
then there is an x intercept, and if ¥~ positive, then there is a y intercept. b~ belongs to the negative
term.

b'=c¢ -a c is the center-to-focus distance

P

If a hyperbola is oriented so its graph crosses the x-axis, then the equation of the asymptotes is y=+/- l

S

)

If a hyperbola is oriented so its graph crosses the y-axis, then the equation of the asymptotesis y=+/~ x.

> =



